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THFFe | FAFFY A& A 3,447 3,980 533 15 Mg 13,407 12,070 | - 1,337
{sel2 EHg A
ANyzaZ 1,605 1,980 375 23 S me D 7,884 8,408 524
HIX| == 1,842 2,000 158 9 AB|EE B 9,057 9,747 690
M= dela A2 A 4,500 3,000 |- 1,500 | - 33 7| Et= | 100 110 10
HolMel g =
oo 4,500 3,000 |- 1,500 | - 33 R FZy| A~ A 500 400 | - 100
(F23)
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TH L ———
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SN ALl | 1,150 1,050 100 | - 9
SEAGH| 1,607 200 1,407 | - 88
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zlodgt
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2017 2018 =2HB-A)
2 g = 2xtEY of 4t oo B U (el )
(A) (B)
Bt 165,366 | 162,340
bl 4~ A 112,850 | 120,332

=0 82,401 89,997 7|22 (L) ME{ZH(5511) 2,633,000 117 & 28,963,000
MEZH5512) 2,708,000 <171 & 2,708,000
ALE| S X|AH7E3) 1,688,000+67H & 10,128,000
AtE| S X|AHTE4) 1,737,000+67H & 10,422,000
Zl2=(7123) 7| 2= 1,574,000 »2H %1271 & 37,776,000
H =g 13,407 12,070 SEF7H|(YEH) ME{ZH(5211) 2,633,000 «60%+13] 1,579,800
ME{ZH(5512) 2,708,000% «60%x*13] 1,624,800
AtE| S X|AHT7E3) 1,688,000%60%+13] 1,012,800
AL8| =X AH724) 1,737,000%60%x*13] 1,042,200
zelg e MIE{ & 157,980« 117 & 1,627,780
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R st x| @ =& 300,0008 42 7| 1,200,000
A Xt el oy 1,300,000
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AE;; 9,067 9,747 =oAF (L) E504%4.5% 2,839,000
SoAZEE (L) & 504%3.06% 1,931,000
7|t (tA) £ 30{+6.55% 127,000
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=oAL EE (7] £304%3.06% 1,156,000
I AEH (7] & 509%6.55% 76,000
nEEH (7|2 E30{+1.1% 416,000
LA 2 AR A EZ04+0.8% 303,000
7|Ef =4 A 110 10 10 JokZAlCHH| 109,740
400 100 20
JlHey 9 s
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MM ZzZ 7|E AEZHHE 5 = 250,000
2,599 2,330 Ao 130,0008 «127 & 1,580,000
AFHAETR OFE| = AEf A = 150,000
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| 2,168 200
Ald 2o Zesh HEF
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35,691 28,528
21,393 18,430 QI EEREX] AL | 800, 0002 127 & 9,700,000
WA SALHET A 1,000,0002 23] 2,000,000
M ARt 22| 7| Abei] 20,0004 %100 2,000,000
HELEI AL 500,000% 13 500,000
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Chebod 2 X AL H] 135,0008 «103] 1,350,000
AT AFX| AL 165,000 <127 & 1,980,000
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z st = 2At &4 ol A of & M F oof A (e )
(A) (B) OH £ H| (%)
HAM XA 1,545 2,400 855 55 |4l ol M Eot=2| 7| A H] 300,000 %15] = 300,000
=S AX| Y ALG | 60,0008 «103| = 600,000
EH2stFAIYH| 150,000 *103] = 1,500,000
e 3,300 1,900 1,400 | - 42 |& =2l XA 200,000 1 = 200,000
7H£IAI'%|H| ) s s =T = = 5 — [= N B
HO|A| M7 2 =X & AL H| 50,0009 10H = 500,000
ghod X| 2l AFdH| 40,0002 +30H = 1,200,000
oi7tEs 2,588 1,200 1,388 | - 54 |25tA X2 AFdH| 100,0002 43| = 400,000
X Y AL | ’ ’ ’ - soEarE e - ’
LIS 0| X[ &l AfdH| 400,000 <235| = 800,000
P =PNEPN L] 1,500 600 900 | - 60 |RFAXH &l X ALRAH] 100,0009 %33 = 300,000
O| 2 H|X| Y AL H| 100,000 %33] = 300,000
PN PN PN o = o] Lo ol 35
N eEAtel | 1,150 1,050 100 | - 9 |Xtal S AR = X2 ] 50,0009 %335 = 150,000
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KA S AR L § 2 ZHEHS(H| 50,0009 %235 = 100,000
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AI'?:-linHE'- 3:' ApEe gl of 9 = o AF o 3 = =
o At 1,464 1,556 92 6 |Feus & AKX S 34, "ol § = 1,356,400
AldE 7+3(d| =I5 100,000 <235 = 200,000
A Xl 2| od 27| 1t AT =
N eAtel b 1,144 1,192 48 4 |2 o 2ol ey HAEDMSH £ = 1,192,000
SNES SNES | 16 40 24 150
[SONES 16 40 24 150 |&tXI& 40,000
of|t|H| 0ilH|H| 2~ A 175 20 166 | - 89
of H|H| 150 - 150 | - 100 |ollu|u| (X2 2 AH]) -
o= 25 20 5| - 20 |o|XtEtstz 20,000




